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Code



In [55]: def point_grid_ldipoint):
num = int{(point [0]ff200-20400)+743 + (point [0] fF200-1234))
return num

In [66]: def trajectory_arid_ld{trajectory):
| =[]
for i in trajectory:
| cappend(int (j[0]£F200-1234 + (J[11FF200-20400)+734))
return |

In [57]: def arid_set_ld(trajectory):
tot = []
grid_raw = trajectory_arid_ld{trajectory)
for i in arid_raw:
arid_list = [i+733, i+734, i+735, #
=1, i, i+, #
=735, i-734, i-733]
for j in arid_[ist:
tot += [j]
tot = set(tot)
return tot



In [6B0]: arid= [[].[]]
arid_1 = [[1.[]]
for i in k:
arid[0] . append(i®734)
arid[1].append(if/734)

for i in k_I:
arid_1[0] . appendi i®734)
arid_1[1] . append(if/f734)

In [B1]: plt.figurelfigsize=(10,10)]
plt.axist equal ')
plt.plot(=grid, "bs'  markersize = 2, label = "grid set ')
plt.ploti+arid_1, 'r=',markersize = 2, label = "trajectory arid")
gttt xdimla F45)
gl wlimld 754)
plt. legend()
plt . show )
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Plot
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